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H28.4.27|H28.5.19 [H28.6.15|H28.7.14 |H28.8.22 |H28.9.15 [H28.10.18(H28.11.21|H28.12.15|H29.1.19 |H29.2.16 [H29.3.6
H28.5.7 [H28.5.29 (H28.6.25|H28.7.24|H28.9.1 |H28.9.25 [H28.10.28|H28.12.1|H28.12.25|H29.1.29 [H29.2.26 [H29.3.16
H (at25 ) 5.8 8.6 7.4 7.4 7.6 7.9 7.2 8.0 6.9 7.7 6.8 7.9 7.2 7.5
BOD (mg/1) 60 0.5 - - 0.6 - - 0.5 9.5 - 2.4 0.8 0.9 0.9
CoD  (mg/l) 90 0.5 0.8 - - 0.9 - - 3.1 0.7 1.1 0.5 - -
(mg/1) 60 1 - - - - - - - - - - - -
( /ml) 3,000 0 2 0 1 1 2 1 0 1 1 0 1
(mg/1) 60 1 21.0 16.0 21.0 23.0 21.0 21.0 22.0 27.0 26.0 13.0 23.0 10.0
(mg/1) 5 0.5 -
(mg/1) 30 0.5 -
(mg/1) 5 0.05 -
(mg/1) 3 0.01 .
(mg/1) 2 0.01 -
(mg/1) 10 0.05 0.07
(mg/1) 10 0.02 -
(mg/1) 2 0.01 .
(mg/1) 15 0.08 -
(mg/1) 50 1 0.16
(mg/1) 8 0.01 0.09
(mg/1) 0.1 0.005 -
(mg/1) 1 0.01 -
(ng/1) 1 0.05 .
(mg/1) 0.1 0.05 -
(mg/1) 0.5 0.01 -
(mg/1) 0.1 0.01 -
(mg/1)| 0.005 0.0005
(mg/1) 0.0005 Z
(mg/1) 0.003 0.0005 -
(mg/1) 0.3 0.002 -
(mg/D 0.1 0.0005 -
(mg/1) 0.2 0.002 -
(mg/1) 0.02 0.0002 -
,2- (mg/1) 0.04 0.0004 -
1,1- (mg/1) 0.2 0.002 -
-1,2- (mg/1) 0.4 0.002 -
1,1,1- (mg/1) 3 0.0005 -
1,1,2- (mg/1) 0.06 0.0006 -
1,3- (mg/1) 0.02 0.0002 -
(mg/1) 0.06 0.0006 Z
(mg/1) 0.03 0.0003 -
(mg/1) 0.2 0.002 -
(mg/1) 0.1 0.001 -
(mg/1) 0.1 0.01 -
(ng/1) 200 0.05 21.0
(pg-TEQ) 10 0.000042




H28.4.27|H28.5.19 [H28.6.15|H28.7.14 |H28.8.22 |H28.9.15 [H28.10.18(H28.11.21|H28.12.15|H29.1.27 |H29.2.16 [H29.3.6
H28.5.7 [H28.5.29 (H28.6.25|H28.7.24|H28.9.1 |H28.9.25 [H28.10.28|H28.12.1|H28.12.25|H29.2.6 [H29.2.26 (H29.3.16
H (at25 ) 5.8 8.6 6.8 6.6 6.6 6.8 6.9 6.3 6.5 6.5 6.8 6.7 6.4 6.6
BOD (mg/l1) 60 0.5 - - 0.9 - 0.5 3.0 2.4 6.6 2.4 3.4 0.9 0.7
CoD  (mg/l) 90 0.5 1.7 1.9 1.5 1.5 1.3 2.9 1.9 3.3 1.1 2.6 1.3 1.5
(mg/1) 60 1 2.0 - 1.0 - - - 2.0 1.0 - 2.0 - -
( /ml) 3,000 0 0 0 1 1 0 0 0 1 1 0 1
(mg/1) 60 1 16.0 17.0 30.0 24.0 25.0 22.0 22.0 27.0 26.0 22.0 22.0 15.0
(mg/1) 5 0.5 -
(mg/1) 30 0.5 -
(mg/1) 5 0.05 -
(mg/1) 3 0.01 .
(mg/1) 2 0.01 -
(mg/1) 10 0.05 0.14
(mg/1) 10 0.02 -
(mg/1) 2 0.01 .
(mg/1) 15 0.08 -
(mg/1) 50 1 0.24
(mg/1) 8 0.01 0.03
(mg/1) 0.1 0.005 -
(mg/1) 1 0.01 -
(ng/1) 1 0.05 .
(mg/1) 0.1 0.05 -
(mg/1) 0.5 0.01 -
(mg/1) 0.1 0.01 -
(mg/1)| 0.005 0.0005 -
(mg/1) 0.0005 Z
(mg/1) 0.003 0.0005 -
(mg/1) 0.3 0.002 -
(mg/D) 0.1 0.0005 -
(mg/1) 0.2 0.002 -
(mg/1) 0.02 0.0002 .
,2- (mg/1) 0.04 0.0004 -
1,1- (mg/1) 0.2 0.002 -
-1,2- (mg/1) 0.4 0.002 -
1,1,1- (mg/1) 3 0.0005 -
1,1,2- (mg/1) 0.06 0.0006 -
1,3- (mg/1) 0.02 0.0002 -
(mg/1) 0.06 0.0006 Z
(mg/1) 0.03 0.0003 -
(mg/1) 0.2 0.002 -
(mg/1) 0.1 0.001 -
(mg/1) 0.1 0.01 -
(ng/1) 200 0.05 24.0
(pg-TEQ) 10 0.00015




H28.4.27 |H28.5.19 [H28.6.15 |[H28.7.14 |H28.8.22 |H28.9.15 |H28.10.18[H28.11.21[H28.12.15|H29.1.19 |H29.2.16 |H29.3.6
H28.5.7 |H28.5.29|H28.6.25|H28.7.24|H28.9.1 |H28.9.25|H28.10.28|H28.12.1 [H28.12.25(H29.1.29 [H29.2.26 [H29.3.16
(mg/1) 120.0 120.0 120.0 120.0 110.0 110.0 120.0 110.0 100.0 74.0 110.0 110.0
(mS/m) 88.0 85.0 84.0 83.0 78.0 80.0 84.0 84.0 80.0 63.0 80.0 79.0
(mg/1) 0.01 0.003 -
(mg/1) 0.005 Z
(mg/1) 0.01 0.002 -
(mg/1) 0.05 0.01 -
(mg/1D 0.01 0.001 0.003
(mg/1)| 0.0005 0.0003 -
(mg/1) 0.0003 Z
(mg/1) 0.0005 z
(mg/1) 0.03 0.002 -
(mg/1) 0.01 0.0005 -
(mg/1) 0.02 0.002 -
(mg/1) 0.002 0.0002 -
1,2- (mg/1) 0.004 0.0004 -
1,1- (mg/1) 0.1 0.002 -
1,1,1 (mg/1) 1 0.0005 -
1,1,2 (mg/1) 0.006 0.0006 -
1,3- (mg/1) 0.002 0.0002 -
(mg/1) 0.006 0.0006 Z
(mg/1) 0.003 0.0003 Z
(mg/1) 0.02 0.002 -
(mg/1) 0.01 0.001 -
(mg/1) 0.01 0.002 -
1,2- (mg/1) 0.04 0.004 0.007
(mg/1) 0.002 0.0002 -
(mg/1) 0.05 0.005 -
(pg-TEQ) 1 0.038




H28.4.27 |H28.5.19 [H28.6.15 |[H28.7.14 |H28.8.22 |H28.9.15 |H28.10.18[H28.11.21[H28.12.15|H29.1.19 |H29.2.16 |H29.3.6
H28.5.7 |H28.5.29|H28.6.25|H28.7.24|H28.9.1 |H28.9.25|H28.10.28|H28.12.1 [H28.12.25(H29.1.29 [H29.2.26 [H29.3.16
(mg/1) 6.0 6.1 6.6 7.0 7.2 5.8 6.2 6.7 6.9 7.3 7.6 8.1
(mS/m) 6.4 6.4 6.8 7.4 7.5 6.3 6.5 6.9 7.0 7.4 7.6 7.8
(mg/1) 0.01 0.003 -
(mg/1) 0.005 Z
(mg/1) 0.01 0.002 -
(mg/1) 0.05 0.01 -
(mg/1) 0.01 0.001 -
(mg/1)| 0.0005 0.0003 -
(mg/1) 0.0003 Z
(mg/1) 0.0005 z
(mg/1) 0.03 0.002 -
(mg/1) 0.01 0.0005 -
(mg/1) 0.02 0.002 -
(mg/1) 0.002 0.0002 -
1,2- (mg/1) 0.004 0.0004 -
1,1- (mg/1) 0.1 0.002 -
1,1,1 (mg/1) 1 0.0005 -
1,1,2 (mg/1) 0.006 0.0006 -
1,3- (mg/1) 0.002 0.0002 -
(mg/1) 0.006 0.0006 Z
(mg/1) 0.003 0.0003 Z
(mg/1) 0.02 0.002 -
(mg/1) 0.01 0.001 -
(mg/1) 0.01 0.002 -
1,2- (mg/1) 0.04 0.004 -
(mg/1) 0.002 0.0002 -
(mg/1) 0.05 0.005 -
(pg-TEQ) 1 0.053




